1) Lily buys the same sandwich every day in her local shop.

Lily estimates that she has spent £24 on sandwiches.

a) Round the price of the sandwich to estimate how many days Lily
bought this sandwich.

a) Ihave £2. Which item could I buy that is worth approximately £2, but would give me change?

b) Nizar buys two of each item. Estimate how much change he will have from a £20 note.

c) Jessica wants to buy approximately £10 worth of fruit. She wants at least three different types of fruit.
Find one possible combination of fruit that she could buy.

For example, she could buy 5 mangoes, 1 bunch of bananas and 1 box of strawberries.

3) These toys cost less than £15 to buy altogether.
Fatimah buys three of the toys and spends approximately £13.

Noah buys the cheapest toy and spends approximately £2.

Grace buys two of the toys and spends approximately £8.

a) Estimate how much each toy could cost and write it
on the price tag.

b) Use your answers from (a) to explain which
of the toys each child bought.
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